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The figures in the margin indicite full marks
: for the questions :
1. e fRararRs vea fn/um Se3n Ak Serea -
1x8=8

Answer the followmg/Choose the correct
answer : !

(@) R S A Ry

What do you understand by economic
development?
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(2)

(b) TS PR e werd R A
L ]I ?

Who - of the following supported the
doctrine of balanced growth?

i) QTR TER
Regnar Nurkse

) fRoR
Singer

(i) BRI
Hirschman

(iv) S°RI IEAS W
None of them
" () PQLI-F 3o Fioicht foran |
Write the full form of PQLI.

(d) TFIR  IFG TGW G  @m
HRGIRE I

i) o
(i) =

The ‘theory of circular causation’ was
propounded by economist Keynes.

&

(i True
(i) False

P15—4500/508 { Continued )



(3)

fe) TR FICH SIAS O71 @I (BT =7 2

Which of the following is not a
characteristic of an underdeveloped
~country?

() e eR e

Low per capita income
(i) T R 2]

Low rate of saving
(i) TS Fega

Chronic unemployment
(iv) 8[RJ 9bIe I

None of 'the above

() SRS T AT ARTEA @ S S
zfeet 2 ' :

The Twelfth Five-year plan in India was -
started in the year

i) 2007
(i) 2009
(i) 2012

(i) 2014
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(4)

(g) ~RITIR IENYIC SRS T BRATAH
FRYeT [l

During the planning period,’ the
contribution of agricultural sector to
India’s domestic product has

() T A=
increased

(i) ZP1 IR
decreased

(i) O WREMR .. - -

remained the same

fiv) ST TS T

None of the above

() ey Repr’a e fra |
Define ‘unbalanced growth’.
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(S)

2.ﬁc¢mmﬁi‘ﬁs§mm(ﬁf@zﬁ Seo ™R
foero) : 4x4=16

Write short notes on any four (within 150
words each) :

@ R R T o S

Economic  growth vs.  Economic
.development

(b) w%ﬁﬁm

Manpower planning

(c) SRR I QYRR T
Populatlon growth and quahty of l1fe

(d) TR RS “fResar g

Role of planning in market economy

(e) THART BT SO 104 SR

Contribution of tertiary sector in
economlc development

() A R SPSs TR IR

' Rostow’s stages of economic growth
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(6)

e Ml PR Ted o (afSth ¢oo R Rewo) -

Answer the following questions (within 500 words

each) :

3. (a)

(b)

T (71 O3 qW CIPEPTR S
11 SR 93 TS o1 A ? (ONR
T TS I ol | 7+5=12
Discuss the basic characteristics of a

developing country. Is India a developing
country? Justify your answer.

[T/ Or
wfafes [Rerr A g | gk RIrme
oo TR I TAMPIE A I, 2+10=12

Define economic growth. Explain the

 factors affecting economic growth.

4. (a)

el PR R W - SERUPR

e  6+5=11

(b)

Explain the édvantages and dis-
advantages of unbalanced growth.

, ‘ w1/ Or L
weftafes R oy weite =¥
AL T4 | |2 TfRE SARERER & &2

C 8+3=11

Discuss the classical model of economic
growth. What are its drawbacks?
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(7))

5. (a) WA e Frem i 3w 3 11

Explain the role of education in
economic development.

w7/ Or
(b) SoT® FARIRI o9 Y Gl forat

Write short notes on the following :

i) TR (PR IR T NS 5
Health policy for developing
countries

(i) O S TSl _ 6

Inequality and poverty

6. (a) CM 9IR ST THER OTCS WY (2 4=
PR SCEABA 41 | 11

Discuss the problems associated with
industrial development of a country.

WW/Or |
(b) INRIGI B8 ¥R TITTIER FRR THEO
e RSN I F0 4

Explain Nurkse’s view on the strategies
- for transferring agriculture surplus
workers.
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(8)

7. (a) T (PR SR e @I gRe
3 30 | 11

Describe the roleof State in economic
development of developing countries.

S2q/ Or
(b) VAT TS ARTFAR ! ‘E‘H'WWI

Evaluate ‘the role of planning in
economic development

* %k
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